

# Robust logic and structural properties of the sequent calculus

**Report****Author(s):**

Hösli, Brigitte

**Publication date:**

1993-11

**Permanent link:**

<https://doi.org/10.3929/ethz-a-000918239>

**Rights / license:**

[In Copyright - Non-Commercial Use Permitted](#)

**Originally published in:**

ETH, Eidgenössische Technische Hochschule Zürich, Departement Informatik, Institut für Theoretische Informatik 202

MC. 99. 502



Eidgenössische  
Technische Hochschule  
Zürich

Departement Informatik  
Institut für  
Theoretische Informatik

---

Brigitte Hösli

**Robust Logic and  
Structural Properties of the  
Sequent Calculus**

November 1993

Eidg. Techn. Hochschule Zürich  
Informatikbibliothek  
ETH-Zentrum  
CH-8092 Zürich

ETH Zürich  
Departement Informatik  
Institut für Theoretische Informatik  
Prof. Dr. J. Nievergelt

Author's address:

B. Hösl, Institut für Theoretische Informatik, ETH Zentrum, CH-8092 Zurich,  
Switzerland. e-mail: hoesli@inf.ethz.ch

© 1993 Departement Informatik, ETH Zürich

## Abstract

In this report a *sequent calculus with restricted weakening rules* is investigated. (Weakening rules admit adding new formulas to derivable sequents.) This calculus produces the fragment of classical logic, which is "*robust against loss of information*". Thus, the proposed logic could be helpful in the field of databases.

The interpretation of the calculus is very simple: The calculus is sound and complete with respect to a *three-valued semantics*, where the third truth-value has the intention "neutral". Furthermore, this semantics corresponds to a special case of Girard's phase semantics (for linear logic) and is related to the semantics of  $RM_3$ , the strongest logic in the family of relevance logics.

## Zusammenfassung

In diesem Bericht wird ein *Sequenzenkalkül mit eingeschränkten Abschwächungsregeln* untersucht. (Die Abschwächungsregeln erlauben es, zu einer herleitbaren Sequenz neue Formeln hinzuzufügen.) Der Kalkül erzeugt genau dasjenige Fragment der klassischen Logik, welches "*robust ist gegenüber Informationsverlust*". Somit kann diese Logik auch im Gebiet der Datenbanken sehr nützlich sein.

Die Interpretation des Kalküls ist sehr einfach: Der Kalkül ist korrekt und vollständig bezüglich einer *3-wertigen Semantik*, wobei der dritte Wahrheitswert die Bedeutung "neutral" hat. Ferner entspricht diese Semantik einem Spezialfall der Phasensemantik von Girards linearen Logik und es besteht auch eine Beziehung zur Semantik von  $RM_3$ , der strengsten Logik in der Familie der Relevanzlogiken.

## Contents

1	Motivation	5
2	Calculus $LC_R$	7
3	Robust Semantics	12
4	Soundness and Completeness	14
5	Comparisons	24
6	Cut Rule	27
7	References	30

# 1 Motivation

In recent years, some variations of Gentzen's sequent calculus [Ta87] have been investigated; in particular, by restricting the structural rules. Sequent calculi without contraction rules (these rules reduce two occurrences of a formula into one occurrence) were studied by [Gr82], [KW84] and [Me92]. Girard's linear logic [Gi87] is also based on a sequent calculus without contraction rules and without weakening rules (these rules allow the addition of new formulas). The weakening rules are the focus of this report.

The sequent calculus formalizes the concept of a proof. This means that the sequent  $A, B \supset A$  expresses the fact that  $A$  is a logical consequence of the specified knowledge  $A, B$ . Therefore, the weakening rule on the left hand side ( $lW$ ) is related to the *monotonicity* of the logic, whereas the weakening rule on the right ( $rW$ ) is related to the *paraconsistency* of the logic. The most interesting case is a sequent calculus where *only the rule ( $rW$ ) is missing*. The family of derivable sequents then becomes smaller than in classical logic since it is impossible to weaken, or to water down, the consequence of a specified knowledge. For example, the sequent  $A \supset A, B$  is no longer derivable.

The derivable sequents can be described as follows:

*A sequent  $\gamma \supset \delta$  is derivable without the rule ( $rW$ ) if and only if every sequent  $\gamma' \supset \delta'$  which arises from  $\gamma \supset \delta$  by discarding prime formulas is derivable in classical logic.*

This property could be helpful in the field of databases. For example, if the basic information (prime formulas) together with some of the conclusions obtained by the restricted calculus are stored, then these conclusions remain correct even if some of the information is lost.

Furthermore, the interpretation of the calculus is very simple. *The calculus is sound and complete w.r.t. a three-valued semantics, where the third truth-value has the intention neutral and where the values true and neutral are distinguished.* If the value of a formula  $A$  is neutral then the value of  $A \wedge B$ , as well as the value of  $A \vee B$ , is the same as the value of the formula  $B$ . As usual the existential

quantifier is interpreted as a (possibly infinite) disjunction and the universal quantifier as a (possibly infinite) conjunction.

This three-valued semantics can be interpreted as a counterpart to Bočvar's semantics (or to Kleene's weak semantics, respectively). It is also possible to transfer this semantics into the three-valued semantics of Łukasiewicz. But the most interesting relation is the following: The proposed three-valued semantics is a *special case of Girard's phase semantics* (for linear logic). Specifically, this three-valued semantics can be obtained from the multiplicative connectives by a suitable restriction. Moreover, Kleene's strong semantics can be obtained from the additive connectives by the *same* restriction.

Note that *every logic* can be made robust against loss of information by forbidding the weakening of a logical consequence. For example, placing such a restriction on Kleene's strong 3-valued logic leads to a four-valued logic, where the fourth value also has the intention neutral (see [Ho93]). But in this paper, we concentrate on this restriction applied to classical logic only.

## 2 Calculus $LC_R$

Let  $\mathcal{L}$  be an arbitrary first order language with free variables  $u, v, u_1, v_1, \dots$ , bound variables  $x, y, x_1, y_1, \dots$ , function and relation symbols and  $\neg, \wedge, \vee, \exists, \forall$  as logical connectives and quantifiers.

The terms  $r, s, r_1, s_1, \dots$  and formulas  $A, B, C, A_1, B_1, \dots$  are defined as usual where the negation of a formula is defined by  $\neg\neg A := A$ ,  $\neg(A \wedge B) := \neg A \vee \neg B$ ,  $\neg(A \vee B) := \neg A \wedge \neg B$ ,  $\neg(\exists x A(X)) := \forall x \neg A(x)$  and  $\neg(\forall x A(x)) := \exists x \neg A(x)$ .

Small Greek letters  $\gamma, \delta, \sigma, \pi, \gamma_1, \delta_1, \sigma_1, \pi_1, \dots$  denote finite sequences of  $\mathcal{L}$ -formulas, capital Greek letters  $\Gamma, \Delta, \Sigma, \Pi, \Gamma_1, \Delta_1, \Sigma_1, \Pi_1, \dots$  denote finite sets of  $\mathcal{L}$ -formulas and expressions of the form  $\gamma \supset \delta$  are called  $\mathcal{L}$ -sequents.

Defining a calculus without the weakening rule on the right side, we have to prevent that the other rules imply weakening on the right hand side or transfer the weakening from the left to the right hand side. Therefore, the rules

$$\frac{\gamma \supset \delta}{\gamma \supset \delta, A} (rW), \quad \frac{\gamma \supset \delta, A}{\gamma \supset \delta, A \vee B} (r\vee)', \quad \frac{\gamma \supset \delta, A(s)}{\gamma \supset \delta, \exists x A(x)} (r\exists)',$$

which weaken the right side of a sequent as well as the rules

$$\frac{\gamma, A \supset \delta}{\gamma \supset \delta, \neg A} (r\neg) \quad \text{and} \quad \frac{\gamma \supset \delta, A \quad \sigma, A \supset \pi}{\gamma, \sigma \supset \delta, \pi} (cut)'$$

which could transfer the weakening from the left to the right side are not allowed. On the other side, the discarding rules of  $LC_R$  are missing in Gentzen's sequent calculus of classical logic [Ta87], but yet they are sound with respect to classical semantics. These rules enable a controlled exchange between both sides of a sequent and they are necessary in order to reduce the right side of a sequent.

Note that the axiom in Gentzen's sequent calculus is formulated as  $A \supset A$ . Because we can not increase the right side of a sequent in the restricted calculus, we have to replace the axiom by  $\sigma \supset \sigma$ .



$LC_R$  denotes a Logic Calculus without weakening on the Right hand side.

**Definition 2.1**  $LC_R$  is defined by the following axiom and rules:

*Axiom:*  $\sigma \supset \sigma$  ( $\sigma$  : finite, non empty sequence of negated or unnegated prime formulas)

*Rules:* *Structural Rules*

$$\frac{\gamma \supset \delta}{A, \gamma \supset \delta} \quad (IW)$$

$$\frac{\gamma, A, B, \vartheta \supset \delta}{\gamma, B, A, \vartheta \supset \delta} \quad (IE) \qquad \frac{\gamma \supset \delta, A, B, \pi}{\gamma \supset \delta, B, A, \pi} \quad (rE)$$

$$\frac{\gamma, A, A \supset \delta}{\gamma, A \supset \delta} \quad (IC) \qquad \frac{\gamma \supset \delta, A, A}{\gamma \supset \delta, A} \quad (rC)$$

*Logical Rules*

$$\frac{\gamma, A \supset \delta \quad \vartheta, B \supset \delta}{\gamma, \vartheta, A \vee B \supset \delta} \quad (IV) \qquad \frac{\gamma \supset \delta, A, B}{\gamma \supset \delta, A \vee B} \quad (rV)$$

$$\frac{\gamma, A, B \supset \delta}{\gamma, A \wedge B \supset \delta} \quad (I\wedge) \qquad \frac{\gamma \supset \delta, A \quad \vartheta \supset \pi, B}{\gamma, \vartheta \supset \delta, \pi, A \wedge B} \quad (r\wedge)$$

$$\frac{\gamma, A(r) \supset \delta}{\gamma, \forall x A(x) \supset \delta} \quad (IV) \qquad \frac{\gamma \supset \delta, A(u) \quad \vartheta \supset \pi, A(s)}{\gamma, \vartheta \supset \delta, \pi, \forall x A(x)} \quad (rV)^*$$

$$\frac{\gamma, A(u) \supset \delta}{\gamma, \exists x A(x) \supset \delta} \quad (I\exists)^* \qquad \frac{\gamma \supset \delta, A(u)}{\gamma \supset \delta, \exists x A(x)} \quad (r\exists)^*$$

*Discarding Rules*

$$\frac{\gamma, \neg A \supset \delta, A}{\gamma \supset \delta, A} \quad (ID) \qquad \frac{\gamma, A \supset \delta, \neg A}{\gamma, A \supset \delta} \quad (rD)$$

*Cut Rule*

$$\frac{\gamma, A \supset \delta \quad \vartheta \supset A}{\gamma, \vartheta \supset \delta} \quad (\text{cut})$$

\*: The free variable  $u$  must not occur in the conclusion.

**Definition 2.2** A sequent  $\gamma \supset \delta$  ( $\delta \neq \emptyset$ ) is derivable in  $n$  steps if either

- $\gamma \supset \delta$  is an axiom
- $\gamma \supset \delta$  is the conclusion of a structural rule and the premise  $\gamma' \supset \delta'$  of this rule is derivable in  $n$  steps.
- $\gamma \supset \delta$  is the conclusion of a logical rule, a discarding rule or the cut rule and every premise  $\gamma_i \supset \delta_i$  of this rule is derivable in  $n_i$  steps and  $n > \max_i n_i$ .

A sequent  $\gamma \supset \delta$  is called derivable if there exists a natural number  $n$  such that  $\gamma \supset \delta$  is derivable in  $n$  steps.

**Theorem 2.1** By adding the rule ( $rW$ ) to  $LC_R$ , we obtain a sound and complete sequent calculus of classical predicate logic.

**Proof:** Note that the modified rules ( $r\forall$ ), ( $r\exists$ ) and (*cut*) are sound w.r.t. the classical semantics. To proof completeness, we confine to show that the rule ( $r\exists$ )' is derivable in the calculus  $LC_R + (rW)$ :

$$\begin{array}{r}
 \gamma \supset \delta, A(r) \\
 \hline
 \gamma, \neg A(r) \supset \delta, A(r) \quad (IW) \\
 \hline
 \gamma, \neg A(r) \supset \delta, A(r), A(u) \quad (rW) \\
 \hline
 \gamma, \neg A(r) \supset \delta, A(r), \exists x A(x) \quad (r\exists) \\
 \hline
 \gamma, \neg A(r) \supset \delta, \exists x A(x) \quad (rD) \\
 \hline
 \gamma, \forall x \neg A(x) \supset \delta, \exists x A(x) \quad (I\forall) \\
 \hline
 \gamma \supset \delta, \exists x A(x) \quad (ID)
 \end{array}$$

q.e.d.

The following lemma shows that the sequent  $\gamma \supset \delta, X, X$  is derivable if we can derive the sequent  $\gamma \supset \delta, X$ .

**Lemma 2.2** If  $\gamma \supset \delta$  and  $\pi \supset \sigma$  are derivable then  $\gamma, \pi \supset \delta, \sigma$  is derivable, too.

**Proof:** The proof directly follows by induction on the sum of the lengths of the derivations of  $\gamma \supset \delta$  and  $\pi \supset \sigma$ .

**Lemma 2.3** *The sequent  $A \supset A$  is derivable for any formula  $A$ .*

**Proof:** Recall that  $A \supset A$  is an axiom only if  $A$  is a negated or unnegated prime formula. Thus, the lemma is proved by induction on the structure of  $A$ :

$A \equiv B \vee C$ : By the induction hypothesis and lemma 2.2, the sequents  $B, \neg B \supset B, \neg B$  and  $C, \neg C \supset C, \neg C$  are derivable. Hence:

$$\begin{array}{c}
 \vdots \\
 \frac{B, \neg B \supset B, \neg B}{B \supset B, \neg B} \text{ (ID)} \\
 \frac{\quad}{\supset B, \neg B} \text{ (ID)} \\
 \hline
 \vdots \\
 \frac{C, \neg C \supset C, \neg C}{C \supset C, \neg C} \text{ (ID)} \\
 \frac{\quad}{\supset C, \neg C} \text{ (ID)} \\
 \hline
 \supset B, C, \neg B \wedge \neg C \text{ (r}\wedge\text{)} \\
 \hline
 B \vee C \supset B, C, \neg B \wedge \neg C \text{ (lW)} \\
 \hline
 B \vee C \supset B, C \text{ (rD)} \\
 \hline
 B \vee C \supset B \vee C \text{ (r}\vee\text{)}
 \end{array}$$

$A \equiv B \wedge C$ : analogous to  $B \vee C$

$A \equiv \forall xB(x)$ : By the induction hypothesis, it follows that the sequent  $B(u) \supset B(u)$  is derivable. Hence:

$$\begin{array}{c}
 \vdots \\
 \frac{B(u) \supset B(u)}{\forall xB(x) \supset B(u)} \text{ (lV)} \\
 \hline
 \frac{\quad}{\forall xB(x) \supset \forall xB(x)} \text{ (rV)}
 \end{array}$$

$A \equiv \exists xB(x)$ : By the induction hypothesis and lemma 2.2, the sequents  $\neg B(u) \supset \neg B(u)$  and  $B(v), \neg B(v) \supset B(v), \neg B(v)$  are derivable. In virtue of the rule (lD), the sequent  $\supset B(v), \neg B(v)$  is derivable, too.

Hence:

$$\begin{array}{c}
 \vdots \\
 \vdots \\
 \frac{\supset B(v), \neg B(v)}{\forall x \neg B(x) \supset \forall x \neg B(x), B(v)} \\
 \frac{\forall x \neg B(x) \supset \forall x \neg B(x), B(v)}{\forall x \neg B(x), \exists x B(x) \supset \forall x \neg B(x), B(v)} \quad (IW) \\
 \frac{\forall x \neg B(x), \exists x B(x) \supset \forall x \neg B(x), B(v)}{\forall x \neg B(x), \exists x B(x) \supset B(v)} \quad (rD) \\
 \frac{\forall x \neg B(x), \exists x B(x) \supset B(v)}{\forall x \neg B(x), \exists x B(x) \supset \exists x B(x)} \quad (r\exists) \\
 \frac{\forall x \neg B(x), \exists x B(x) \supset \exists x B(x)}{\exists x B(x) \supset \exists x B(x)} \quad (ID)
 \end{array}$$

q.e.d.

By virtue of the lemmata 2.2 and 2.3, the sequent  $\gamma \supset \gamma$  is derivable for every finite sequence  $\gamma$ .

### 3 Robust Semantics

We define a three-valued semantics where a third truth-value  $n$  is added to  $t$  (true) and  $f$  (false). The third truth-value can be described as *neutral*. If the truth-value of a formula  $A$  is  $n$ , then the value of the formulas  $A \wedge B$  and  $A \vee B$  corresponds to the truth-value of  $B$ . The truth-value  $n$  never succeeds in presence of  $t$  or  $f$ . I.e. the value neutral is "less important" than the values true or false.

A colloquial interpretation of the truth-values could be:  
 $true \approx$  "to accept a proposal",  $false \approx$  "to turn down a proposal"  
and  $neutral \approx$  "an indifferent opinion, e.g. neither to accept nor to turn down a proposal".

**Definition 3.1** A robust valuation for  $\mathcal{L}$  is a function  $V$  which assigns a truth-value  $V(A) \in \{w, f, n\}$  to all  $\mathcal{L}$ -formulas  $A$  and satisfies the following conditions:

$$V(\neg A) = \begin{cases} t & : \text{if } V(A) = f \\ n & : \text{if } V(A) = n \\ f & : \text{otherwise} \end{cases}$$

$$V(A \vee B) = \begin{cases} t & : \text{if } V(A) = t \text{ or } V(B) = t \\ n & : \text{if } V(A) = V(B) = n \\ f & : \text{otherwise} \end{cases}$$

$$V(A \wedge B) = \begin{cases} f & : \text{if } V(A) = f \text{ or } V(B) = f \\ n & : \text{if } V(A) = V(B) = n \\ t & : \text{otherwise} \end{cases}$$

$$V(\exists x A(x)) = \begin{cases} t & : \text{if } V(A(s)) = t \text{ for some term } s \text{ of } \mathcal{L} \\ n & : \text{if } V(A(s)) = n \text{ for all terms } s \text{ of } \mathcal{L} \\ f & : \text{otherwise} \end{cases}$$

$$V(\forall x A(x)) = \begin{cases} f & : \text{if } V(A(s)) = f \text{ for some term } s \text{ of } \mathcal{L} \\ n & : \text{if } V(A(s)) = n \text{ for all terms } s \text{ of } \mathcal{L} \\ t & : \text{otherwise} \end{cases}$$

**Examples:** Let  $V(A(s)) = t$  and  $V(B(s)) = n$ .

Then  $V(A(s) \wedge B(s)) = t$  and  $V(\forall x(\neg A(x) \wedge B(x))) = f$ .

For all robust valuations  $V$  holds:

$$V(\exists x \neg A(x)) = V(\neg(\forall x A(x))) \text{ and } V(\neg A \wedge \neg B) = V(\neg(A \vee B)).$$

**Remark:** In this semantics we can express that a formula  $A$  dominates a formula  $B$ . We define this new connective as follows.

$$A \triangleleft B \equiv A \vee (A \wedge B)$$

The truth-value of  $A \triangleleft B$  corresponds to the value of  $A$  if the value of  $A$  is not neutral, else it corresponds to the value of  $B$ . Thus, we can describe a hierarchy of formulas. In the above example, the formula expresses that  $A$  can decide at first to accept or turn down a proposal. Only if  $A$  has a indifferent opinion, then  $B$  can decide.

**Definition 3.2** A non empty set of formulas  $\Delta$  is called a robust consequence of the set of formulas  $\Gamma$  if for all robust valuations  $V$  holds:  $V(A) = f$  for some  $A$  in  $\Gamma$  or  $V(B) = t$  for some  $B$  in  $\Delta$  or  $V(B) = n$  for all  $B$  in  $\Delta$ .

In this case we write  $\Gamma \models_R \Delta$ .

A formula  $A$  is called a robust tautology if  $\models_R A$  holds.

**Remark:** For all  $\Gamma$  and  $\Delta$  holds:

$$\Gamma \models_R \Delta \implies \Gamma \models_{\text{classical}} \Delta$$

**Examples:** For all formulas  $A, B$  holds

$$\forall x(A(x) \wedge B(x)) \models_R \forall x A(x) \wedge \forall x B(x)$$

$$\forall x A(x) \wedge \forall x B(x) \models_R \forall x(A(x) \wedge B(x))$$

$$\models_R A \vee \neg A$$

But not every classical consequence is a robust consequence. E.g.

$$\forall x A(x) \vee \forall x B(x) \not\models_R \forall x(A(x) \vee B(x))$$

Let  $V(A(s_0)) = n$ ,  $V(B(s_0)) = f$  and  $V(A(s)) = V(B(s)) = t$  for all terms  $s \neq s_0$ . Then  $V(\forall x A(x)) = t$  and  $V(\forall x(A(x) \vee B(x))) = f$ .

Note the formula  $A(s_0)$  is dominated by  $A(s)$  in the formula  $\forall x A(x)$  and by  $B(s_0)$  in the formula  $\forall x(A(x) \vee B(x))$ .

## 4 Soundness and Completeness

We will prove that the calculus  $LC_R$  is sound and complete with respect to the robust semantics. The proof of the soundness is easy in contrast to the proof of the completeness, where we need some further properties of  $LC_R$ . See the lemmata 4.2 - 4.7.

**Definition 4.1** We define  $set(\gamma)$  as the set of the components of  $\gamma$ .

### Theorem 4.1 (Soundness)

If  $\gamma \supset \delta$  is derivable, then  $set(\delta)$  is a robust consequence of  $set(\gamma)$ .

**Proof:** The proof follows by induction on the length of the derivation.

The following properties of  $LC_R$  will be used in the proof of the completeness:

**Lemma 4.2** The sequent  $\gamma, A, \neg A, B, \neg B \supset \delta$  is derivable if one of the following sequents is derivable:

- a1)  $\gamma, A, \neg A, B, \neg B, A \vee B \supset \delta$
- a2)  $\gamma, A, \neg A, B, \neg B, A \vee B \supset \delta, \neg A \wedge \neg B$
- a3)  $\gamma, A, \neg A, B, \neg B \supset \delta, \neg A \wedge \neg B$
- b1)  $\gamma, A, \neg A, B, \neg B, A \wedge B \supset \delta$
- b2)  $\gamma, A, \neg A, B, \neg B, A \wedge B \supset \delta, \neg A \vee \neg B$
- b3)  $\gamma, A, \neg A, B, \neg B \supset \delta, \neg A \vee \neg B$

**Proof:** We modify the calculus  $LC_R$  by replacing the axiom by a new axiom of the form  $A, \neg A, B, \neg B, \sigma \supset \sigma$ . By virtue of the rules (IW) and (IC), the sequent  $\gamma, A, \neg A, B, \neg B \supset \delta$  is derivable in  $LC_R$  if and only if this sequent is derivable in the modified calculus.

Now, the claims follow by simultaneous induction of the length of the derivation in the modified calculus.

q.e.d.

**Lemma 4.3** *If the sequent  $\gamma, A \vee B, \neg A, B \supset \delta$  is derivable then  $\gamma, A \vee B, \neg A \supset \delta$  is also derivable.*

**Proof:** As we can see in the proof of lemma 2.3,  $A \vee B \supset A, B$  is derivable. Thus, we can derive the sequent  $\gamma, A \vee B, \neg A \supset B$  using the rules (*lW*) and (*rD*). Now, obtain a proof as follows.

$$\frac{\gamma, A \vee B, \neg A, B \supset \delta \quad \gamma, A \vee B, \neg A \supset B}{\gamma, A \vee B, \neg A \supset \delta} \text{ (cut)}$$

q.e.d.

**Lemma 4.4** *If the sequent  $\gamma \supset \delta, \exists x A(x), A(s)$  is derivable then  $\gamma \supset \delta, \exists x A(x)$  is derivable, too.*

**Proof:** Now, obtain a proof as follows.

$$\frac{\gamma \supset \delta, \exists x A(x), A(s)}{\gamma, \neg A(s) \supset \delta, \exists x A(x), A(s)} \text{ (lW)}$$

$$\frac{\gamma, \neg A(s) \supset \delta, \exists x A(x), A(s)}{\gamma, \neg A(s) \supset \delta, \exists x A(x)} \text{ (rD)}$$

$$\frac{\gamma, \neg A(s) \supset \delta, \exists x A(x)}{\gamma, \forall x \neg A(x) \supset \delta, \exists x A(x)} \text{ (lV)}$$

$$\frac{\gamma, \forall x \neg A(x) \supset \delta, \exists x A(x)}{\gamma \supset \delta, \exists x A(x)} \text{ (lD)}$$

q.e.d.

**Lemma 4.5** *The sequent  $\gamma, \forall x \neg A(x), \forall x A(x) \supset \delta$  can be derived if one of the following sequents is derivable:*

- a)  $\gamma, \forall x \neg A(x), \forall x A(x), \exists x A(x) \supset \delta$
- b)  $\gamma, \forall x \neg A(x), \forall x A(x), \exists x A(x) \supset \delta, \forall x \neg A(x)$
- c)  $\gamma, \forall x \neg A(x), \forall x A(x) \supset \delta, \forall x \neg A(x)$

**Proof:** As before, it suffices to consider derivations which start with an axiom of the form  $\forall x \neg A(x), \forall x A(x), \sigma \supset \sigma$ . By simultaneous induction on the length of the derivation, the proposition is easy to prove. For example:



a) If the last inference is

$$\frac{\gamma, \forall x \neg A(x), \forall x A(x), A(u) \supset \delta}{\gamma, \forall x \neg A(x), \forall x A(x), \exists x A(x) \supset \delta} (l\exists)$$

then the sequent  $\gamma, \forall x \neg A(x), \forall x A(x), A(u) \supset \delta$  is derivable. The proposition follows using the rules  $(l\forall)$  and  $(lC)$ .

If the last inference is

$$\frac{\gamma, \forall x \neg A(x), \forall x A(x), \exists x A(x) \supset \delta, \forall x \neg A(x)}{\gamma, \forall x \neg A(x), \forall x A(x), \exists x A(x) \supset \delta} (rD)$$

then the induction hypothesis of *b*) yields the proposition.

b) Define  $\sigma_1 \equiv \gamma, \forall x \neg A(x), \forall x A(x), \exists x A(x)$

and  $\sigma_2 \equiv \gamma, \forall x \neg A(x), \forall x A(x)$ .

Let  $\delta_1, \delta_2$  be such that  $\delta_1, \delta_2 \equiv \delta$ . If the last inference is

$$\frac{\sigma_1 \supset \delta_1, \neg A(u) \quad \sigma_1 \supset \delta_2, \neg A(s)}{\sigma_1 \supset \delta, \forall x \neg A(x)} (r\forall)$$

then the induction hypothesis of *a*) yields that  $\sigma_2 \supset \delta_1, \neg A(u)$  and  $\sigma_2 \supset \delta_2, \neg A(s)$  are derivable. By virtue of the rule  $(r\exists)$ , we can also derive the sequent  $\sigma_2 \supset \delta_1, \exists x \neg A(x)$ . From lemma 2.2 we obtain that  $\sigma_2 \supset \delta, \exists x \neg A(x), \neg A(s)$  is derivable and from lemma 4.4  $\sigma_2 \supset \delta, \exists x \neg A(x)$ . Thus, the proposition follows using the rule  $(rD)$ .

If the last inference is

$$\frac{\gamma, \forall x \neg A(x), \forall x A(x), A(u) \supset \delta, \forall x \neg A(x)}{\gamma, \forall x \neg A(x), \forall x A(x), \exists x A(x) \supset \delta, \forall x \neg A(x)} (l\exists)$$

then the induction hypothesis of *c*) yields that the sequent  $\gamma, \forall x \neg A(x), \forall x A(x), A(u) \supset \delta$  is derivable. The proposition follows using the rules  $(l\forall)$  and  $(lC)$ .

q.e.d.

**Lemma 4.6** *The sequent  $\gamma, \forall x A(x) \supset \delta$  is derivable*

*if  $\gamma, \forall x A(x), \forall x \neg A(x), A(u) \supset \delta$  and  $\gamma, \forall x A(x), A(u) \supset \neg A(u)$  are derivable*

*(where  $u$  is a free variable which does not occur in  $\gamma, \forall x A(x) \supset \delta$ ).*

**Proof:** The sequent  $\gamma, \forall x A(x) \supset \forall x \neg A(x)$  can be derived from  $\gamma, \forall x A(x), A(u) \supset \neg A(u)$  using the rules  $(lD)$  and  $(r\forall)$ .

The sequent  $\gamma, \forall x A(x), \forall x \neg A(x) \supset \delta$  can be derived from the sequent  $\gamma, \forall x A(x), \forall x \neg A(x), A(u) \supset \delta$  using the rule  $(l\forall)$ . Thus, the proposition follows using the  $(cut)$ .

q.e.d.

**Lemma 4.7** *The sequent  $\gamma, \exists x A(x) \supset \delta$  is derivable*

*if  $\gamma, \exists x A(x), \forall x A(x), A(u) \supset \delta$  and  $\gamma, \exists x A(x), A(u) \supset \neg A(u)$  are derivable*

*(where  $u$  is a free variable which does not occur in  $\gamma, \exists x A(x) \supset \delta$ ).*

**Proof:** As we can see in the proof of lemma 2.3, the following sequent  $\forall x \neg A(x), \exists x A(x) \supset A(u)$  (where  $u$  is a free variable) is derivable. Therefore, the sequent  $\forall x \neg A(x), \exists x A(x) \supset \forall x A(x)$  can also be derived.

Furthermore, using the rule  $(l\forall)$  we obtain  $\gamma, \exists x A(x), \forall x A(x) \supset \delta$  from the sequent  $\gamma, \exists x A(x), \forall x A(x), A(u) \supset \delta$ .

Using the rule  $(lD)$  we obtain  $\gamma, \exists x A(x) \supset \neg A(u)$  from the sequent  $\gamma, \exists x A(x), A(u) \supset \neg A(u)$ . Thus, the sequent  $\gamma, \exists x A(x) \supset \forall x \neg A(x)$  can be derived by the rules  $(lD)$  and  $(r\forall)$ . Now, construct a proof as follows.

$$\frac{\gamma, \exists x A(x), \forall x A(x) \supset \delta \quad \forall x \neg A(x), \exists x A(x) \supset \forall x A(x)}{\forall x \neg A(x), \exists x A(x), \gamma \supset \delta} (cut)$$

$$\frac{\gamma, \exists x A(x) \supset \forall x \neg A(x) \quad \forall x \neg A(x), \exists x A(x), \gamma \supset \delta}{\exists x A(x), \gamma \supset \delta} (cut)$$

q.e.d.

### Theorem 4.8 (Completeness)

*If  $set(\delta)$  is a robust consequence of  $set(\gamma)$ , then  $\gamma \supset \delta$  is derivable.*

**Proof:** Let  $\gamma \supset \delta$  a non derivable sequent. We prove that  $set(\delta)$  is not a robust consequence of  $set(\gamma)$ . Note that the order and multiplicity of the formulas of  $\gamma$  and  $\delta$  is insignificant, because the calculus  $LC_R$  contains the rules  $(lE)$ ,  $(rE)$ ,  $(lC)$ ,  $(rC)$ ,  $(lW)$  and because lemma 2.2 holds.

The proof is based on the concept of deduction chains and it is divided in the following four steps:

- 1) Definition of a deduction chain
- 2) Introduction of a robust valuation  $V$
- 3) Verification of some properties of the valuation  $V$
- 4) Conclusions

1) *Definition of a deduction chain*

We define by induction on  $i$  an infinite sequence of sequents  $\gamma_0 \supset \delta_0$ ,  $\gamma_1 \supset \delta_1$ ,  $\gamma_2 \supset \delta_2$ , ... such that  $\gamma_i \supset \delta_i$  is not derivable for all  $i \in \mathbf{N}$ . This sequence is called deduction chain.

$\delta_0 := \delta$  and  $\gamma_0 := \gamma, \neg\delta$  ( $\neg\delta$  denotes the sequence  $\neg A_1, \dots, \neg A_k$ , where  $\delta$  is  $A_1, \dots, A_k$ .)

Since  $\gamma \supset \delta$  is not derivable and since  $LC_R$  contains the rule  $(ID)$ , the sequent  $\gamma_0 \supset \delta_0$  is not derivable, too.

Let  $u_1, u_2, \dots$  and  $s_1, s_2, \dots$  arbitrary enumerations of the free variables and the terms.

Let  $\gamma_i \equiv A_1, \dots, A_{n_i}$ . Dependent on  $A_1$ , we define  $\gamma_{i+1} \supset \delta_{i+1}$  as follows.

$A_1 \equiv L$  where  $L$  is a negated or unnegated prime formula.

$$\gamma_{i+1} := A_2, \dots, A_{n_i}, A_1 \text{ and } \delta_{i+1} := \delta_i$$

$A_1 \equiv B \wedge C$  We define

$$\gamma'_{i+1} := A_2, \dots, A_{n_i}, B, C, A_1 \quad (D.1.1)$$

By virtue of the rule  $(I\wedge)$ , the sequent  $\gamma'_{i+1} \supset \delta_i$  is not derivable.

$$\gamma_{i+1} := \begin{cases} \gamma'_{i+1}, \neg B \vee \neg C & : \text{ if } \neg B, \neg C \in \text{set}(\gamma'_{i+1}) \\ \gamma'_{i+1} & : \text{ otherwise} \end{cases}$$

$$\delta_{i+1} := \delta_i \quad (D.1.2)$$

The sequent  $\gamma_{i+1} \supset \delta_{i+1}$  is not derivable. See lemma 4.2 a1).

$A_1 \equiv B \vee C$  We define

$$\gamma'_{i+1} := \begin{cases} A_2, \dots, A_{n_i}, B, A_1 & : \text{ if } A_2, \dots, A_{n_i}, B, A_1 \supset \delta_i \text{ is} \\ & \text{not derivable} \\ A_2, \dots, A_{n_i}, C, A_1 & : \text{ otherwise} \end{cases} \quad (\text{D.2.1})$$

By virtue of the rule (IV), the sequent  $\gamma'_{i+1} \supset \delta_i$  is not derivable.

Define

$$\gamma''_{i+1} := \begin{cases} \gamma'_{i+1}, B, C & : \text{ if } \neg B, \neg C \in \text{set}(\gamma'_{i+1}) \\ \gamma'_{i+1}, C & : \text{ if } \neg B \in \text{set}(\gamma'_{i+1}) \text{ and } \neg C \notin \text{set}(\gamma'_{i+1}) \\ \gamma'_{i+1}, B & : \text{ if } \neg C \in \text{set}(\gamma'_{i+1}) \text{ and } \neg B \notin \text{set}(\gamma'_{i+1}) \\ \gamma'_{i+1} & : \text{ otherwise} \end{cases} \quad (\text{D.2.2})$$

By virtue of the lemma 4.3, the sequent  $\gamma''_{i+1} \supset \delta_i$  is not derivable.

Define

$$\begin{aligned} \gamma_{i+1} &:= \begin{cases} \gamma''_{i+1}, \neg B \wedge \neg C & : \text{ if } B, \neg B, C, \neg C \in \text{set}(\gamma''_{i+1}) \\ \gamma''_{i+1} & : \text{ otherwise} \end{cases} \\ \delta_{i+1} &:= \delta_i \end{aligned} \quad (\text{D.2.3})$$

By virtue of lemma 4.2 b1), the sequent  $\gamma_{i+1} \supset \delta_{i+1}$  is not derivable.

$A_1 \equiv \exists x B(x)$  We define

$$\gamma'_{i+1} := A_2, \dots, A_{n_i}, B(u_k), A_1 \quad (\text{D.3.1})$$

where  $k$  is the least number such that  $u_k$  does not occur in  $\gamma_i \supset \delta_i$ .

By virtue of the rule (I $\exists$ ), the sequent  $\gamma'_{i+1} \supset \delta_i$  is not derivable.

Define

$$\gamma_{i+1} := \gamma'_{i+1}, \forall x B(x), B(u_l) \text{ and } \delta_{i+1} := \delta_i$$

or

$$\gamma_{i+1} := \gamma'_{i+1}, B(u_l) \text{ and } \delta_{i+1} := \neg B(u_l) \quad (\text{D.3.2})$$

where  $l$  is the least number such that  $u_l$  does not occur in  $\gamma'_{i+1} \supset \delta_i$ .  
 Note we can choose  $\gamma_{i+1}, \delta_{i+1}$  such that  $\gamma_{i+1} \supset \delta_{i+1}$  is not derivable. (See lemma 4.7.) Furthermore,  $\gamma_{i+1} \supset \delta_i$  is not derivable, too.

$A_1 \equiv \forall x B(x)$  We define

$$\gamma'_{i+1} := A_2, \dots, A_{n_i}, B(s_k), A_1 \quad (\text{D.4.1})$$

where  $k$  is the least number such that  $B(s_k)$  is not an element of  $\text{set}(\gamma_i)$ .

By virtue of the rule (IV), the sequent  $\gamma'_{i+1} \supset \delta_i$  is not derivable.

Define

$$\gamma''_{i+1} := \begin{cases} \gamma'_{i+1}, \exists x B(x) & : \text{ if } \forall x \neg B(x) \in \text{set}(\gamma'_{i+1}) \\ \gamma'_{i+1} & : \text{ otherwise} \end{cases} \quad (\text{D.4.2})$$

By virtue of lemma 4.5, the sequent  $\gamma''_{i+1} \supset \delta_i$  is not derivable.

Define

$$\gamma_{i+1} := \gamma''_{i+1}, \forall x \neg B(x), B(u_l) \text{ and } \delta_{i+1} := \delta_i$$

or

$$\gamma_{i+1} := \gamma''_{i+1}, B(u_l) \text{ and } \delta_{i+1} := \neg B(u_l) \quad (\text{D.4.3})$$

where  $l$  is the least number such that  $u_l$  does not occur in  $\gamma''_{i+1} \supset \delta_i$

Note we can choose  $\gamma_{i+1}, \delta_{i+1}$  such that  $\gamma_{i+1} \supset \delta_{i+1}$  is not derivable. (See lemma 4.6.) Furthermore,  $\gamma_{i+1} \supset \delta_i$  is not derivable, too.

The definition of the deduction chain yields

$$\gamma_k \supset \delta_i \text{ is not derivable for all } i \leq k. \quad (*)$$

2) *Introduction of a robust valuation  $V$*

Let  $\Pi := \cup_{i \in \mathbb{N}} \text{set}(\gamma_i)$ . Let  $P$  a  $n$ -ary  $\mathcal{L}$ -relation symbol and  $s_1, \dots, s_n$   $\mathcal{L}$ -terms. We define  $V$  as follows.

$$V(P(s_1, \dots, s_n)) := \begin{cases} t & \text{:if } P(s_1, \dots, s_n) \in \Pi \text{ and } \neg P(s_1, \dots, s_n) \notin \Pi \\ n & \text{:if } P(s_1, \dots, s_n), \neg P(s_1, \dots, s_n) \in \Pi \\ f & \text{:otherwise} \end{cases}$$

Thus,  $V$  is well defined for all  $\mathcal{L}$ -formulas. (See Definition 3.1)

3) *Verification of the following two properties of the valuation  $V$*

$$\text{If } A \in \Pi, \text{ then } V(A) \neq f \quad (\text{V.1})$$

$$\text{If } A \in \Pi \text{ and } V(A) = n, \text{ then } \neg A \in \Pi \quad (\text{V.2})$$

We prove the properties by simultaneous induction on the structure of  $A$ .

$A \equiv P(s_1, \dots, s_n)$ : The propositions immediately follow from the definition of  $V$ .

$A \equiv \neg P(s_1, \dots, s_n)$ : see above.

$A \equiv B \wedge C$ : Since  $A$  is an element of  $\Pi$ , it follows by (D.1.1) that  $B$  as well as  $C$  are elements of  $\Pi$ .

(V.1): By the induction hypothesis of (V.1),  $V(B)$  and  $V(C)$  are not false. Thus, the value of  $A$  is not false.

(V.2): Since  $V(A) = n$ , it holds  $V(B) = V(C) = n$ . By the induction hypothesis of (V.2),  $\neg B$  and  $\neg C$  are elements of  $\Pi$ . By (D.1.2),  $\neg A \in \Pi$ .

$A \equiv B \vee C$ : Since  $A$  is an element of  $\Pi$ , it follows by (D.2.1) that  $B$  or  $C$  is an element of  $\Pi$ . Let  $B \in \Pi$ .

(V.1): By the induction hypothesis of (V.1),  $V(B) \neq f$ . If  $V(B) = t$  then  $V(A) \neq f$ . If  $V(B) = n$  then the induction hypothesis of (V.2) yields that  $\neg B$  is an element of  $\Pi$ . By (D.2.2),  $C \in \Pi$ . By the induction hypothesis of (V.1),  $V(C) \neq f$ . Thus,  $V(A) \neq f$ .

(V.2): Let  $V(A) = n$ . Thus  $V(B) = V(C) = n$ . The induction hypothesis of (V.2) yields that  $\neg B$  is an element of  $\Pi$ . By (D.2.2),  $C \in \Pi$ . The induction hypothesis of (V.2) yields that  $\neg C$  is an element of  $\Pi$ . (D.2.3) implies  $\neg A \in \Pi$ .

$A \equiv \exists xB(x)$ : Since  $A \in \Pi$ , there exists a  $k \in \mathbf{N}$  such that holds  $\gamma_k \equiv A_1, \dots, A_{n_k}$  and  $A \equiv A_1$ . By (D.3.1) and (D.3.2), it follows  $B(u) \in \text{set}(\gamma_{k+1})$  for a free variable  $u$  and  $B(v) \in \text{set}(\gamma_{k+1})$  for a free variable  $v$ . (D.3.2) implies that either  $\forall xB(x) \in \gamma_{k+1}$  or  $\delta_{k+1} \equiv \neg B(v)$ .  
Let  $\forall xB(x) \in \text{set}(\gamma_{k+1})$ .

(V.1): Since  $\forall xB(x) \in \Pi$  and (D.4.1),  $B(s) \in \Pi$  for all terms  $s$ . The induction hypothesis of (V.1) yields  $V(B(s)) \neq f$  for all terms  $s$ . Therefore  $V(A) \neq f$ .

(V.2): Since  $V(A) = n$ ,  $V(B(s)) = n$  for all terms  $s$ . Furthermore, there exists  $j \in \mathbf{N}$  such that  $j > k$ ,  $\gamma_j \equiv A_1, \dots, A_m$  and  $A_1 \equiv \forall xB(x)$ . (D.4.3) implies that  $B(u') \in \text{set}(\gamma_{j+1})$  for a free variable  $u'$  and either  $\forall x\neg B(x) \in \text{set}(\gamma_{j+1})$  or  $\delta_{j+1} \equiv \neg B(u')$ .

If  $\forall x\neg B(x) \in \Pi$  then the proposition holds.

Assume  $\forall x\neg B(x) \notin \Pi$ , then  $\delta_{j+1} \equiv \neg B(u')$ . The property (\*) yields that  $\gamma_l \supset \delta_{j+1}$  is not derivable for all  $l > j$ . Thus  $\neg B(u') \notin \Pi$ . Note that the sequent  $\gamma, C \supset C$  is derivable for any formulas  $C$ . But  $\forall xB(x)$  is an element of  $\Pi$ . This means that  $B(s) \in \Pi$  for all terms  $s$ , see (D.4.1). Contradiction.

Let  $\delta_{k+1} \equiv \neg B(v)$ . The property (\*) yields that  $\gamma_l \supset \delta_{k+1}$  is not derivable for all  $l > j$ . Thus  $\neg B(v) \notin \Pi$ .

(V.1): Since  $B(v) \in \Pi$ , it follows by the induction hypothesis of (V.1) and (V.2) that  $V(B(v)) = t$ . Thus  $V(A) \neq f$ .

(V.2): Since  $V(A) = n$ ,  $V(B(s)) = n$  for all terms  $s$ . By the induction hypothesis of (V.2), it follows  $\neg B(v) \in \Pi$ . Contradiction.

$A \equiv \forall xB(x)$ : Since  $A \in \Pi$  and (D.4.1),  $B(s) \in \Pi$  for all terms  $s$ .

(V.1): By the induction hypothesis of (V.1),  $V(B(s)) \neq f$  for all terms  $s$ . Thus  $V(A) \neq f$ .

(V.2): Since  $V(A) = n$ ,  $V(B(s)) = n$  for all terms  $s$ . From (D.4.3), it follows either  $\forall x \neg B(x)$  is an element of  $\Pi$  or there exists  $k \in \mathbb{N}$  such that  $\gamma_k \equiv A_1, \dots, A_n$  and  $A_1 \equiv A$  and  $\delta_{k+1} \equiv \neg B(u)$  for a free variable  $u$ .

Let  $\forall x \neg B(x) \in \Pi$ . By (D.4.2),  $\exists x \neg B(x) \in \Pi$ . This means that  $\neg A$  is an element of  $\Pi$ .

Assume  $\forall x \neg B(x) \notin \Pi$ . Thus  $\delta_{k+1} \equiv \neg B(u)$ . The property (\*) yields that the sequent  $\gamma_l \supset \delta_{k+1}$  is not derivable for all  $l > k$ . Thus  $\neg B(u) \notin \Pi$ . But  $B(u) \in \Pi$  and  $V(B(u)) = n$ . By the induction hypothesis of (V.2),  $\neg B(u) \in \Pi$ . Contradiction.

#### 4) Conclusions

1. If  $A \in \text{set}(\gamma)$ , then  $A \in \Pi$ . Therefore,  $V(A) \neq f$ .
2. If  $A \in \text{set}(\delta)$ , then  $\neg A \in \Pi$ . Thus,  $V(A) \neq w$ .
3. There exists a formula  $A \in \text{set}(\delta)$  where  $V(A) \neq n$ .

Assume  $V(A) = n$  for all formulas  $A \in \text{set}(\delta)$ . Therefore, it holds  $\neg A \in \text{set}(\gamma_0)$  for all  $A \in \text{set}(\delta)$ . The property (V.2) yields that  $A$  is an element of  $\Pi$  for all  $A \in \text{set}(\delta)$ . Since  $\text{set}(\gamma_i) \subseteq \text{set}(\gamma_{i+1})$  for all  $i \in \mathbb{N}$ , there exists  $j \in \mathbb{N}$  such that  $A \in \text{set}(\gamma_j)$  for all  $A \in \text{set}(\delta)$ . Note that  $\delta_0 = \delta$  by definition.

The lemmata 2.2 and 2.3 yield  $\gamma_j \supset \delta_0$  is derivable. But the property (\*) yields  $\gamma_j \supset \delta_0$  is not derivable. Contradiction.

Thus,  $\text{set}(\delta)$  is not a robust consequence of  $\text{set}(\gamma)$ .

q.e.d.



## 5 Comparisons

The robust semantics differs from the well known 3-valued semantics of Bočvar, Kleene and Łukasiewicz (see [Av91], [Ep90], [Go89] or [Ur86]), but there are some relations of course. We limit the comparison to the propositional semantics.

We can interpret the robust semantics as a counterpart to *Bočvar's* semantics (or Kleene's weak semantics, respectively). There, the intention of the third truth-value is *paradox*. Thus, this value always succeeds in presence of true and false, in contrast to the robust semantics, where the third truth-value never succeeds.

Furthermore, we can simulate the robust semantics in *Łukasiewicz's* ones. The value of a disjunction in the robust semantics is generated by the following formula in Łukasiewicz's semantics:

$$(A \vee \neg(B \rightarrow \neg B)) \wedge (B \vee \neg(A \rightarrow \neg A))$$

Note that negation is interpreted in the same way and that disjunction together with negation is a base of the connectives in the robust semantics.

The strongest logic in the family of relevance logics,  $RM_3$  [RM82] [Du86], [Fu88], has also a three-valued semantics. Its interpretation of the implication  $(A \rightarrow B)$  exactly corresponds to the interpretation of the formula  $\neg A \vee B$  in the robust logic. (But the interpretation of conjunction and disjunction correspond to Kleene's interpretations of these connectives.) The weakening is also restricted in  $RM_3$ , but in different kind. Note the formula  $A \rightarrow A \wedge B$  is a tautology in  $RM_3$ , but  $A \rightarrow (B \rightarrow A)$  is no tautology in  $RM_3$ .

A more detailed analysis of these relations could be found in [Ho92].

The most interesting relation is the following: *The robust semantics is a special case of Girard's phase semantics (for linear logic)* [Gi87], [Tr92]. In particular, it is obtained from the multiplicative connectives by a suitable restriction and Kleene's strong semantics

is obtained from the additive connectives by the same restriction. (The modalities will be discussed later.) In order to see the connection, we shortly repeat the most important definitions of the phase semantics:

The language of the propositional linear logic contains the logical connectives  $\perp$ ,  $+$ ,  $\star$ ,  $\sqcap$  and  $\sqcup$  where  $+$  corresponds to the multiplicative disjunction,  $\star$  to the multiplicative conjunction,  $\sqcap$  to the additive conjunction and  $\sqcup$  to the additive disjunction.

A *phase space*  $\underline{P}$  consists in a commutative monoid  $\langle P, \cdot, 1 \rangle$  and a subset  $\perp$  of  $P$ .  $\underline{P} = \langle P, \cdot, 1, \perp \rangle$

If  $G$  is a subset of  $P$ , then its *dual*  $G^\perp$  is defined as  $\{p \in P \mid \forall q (q \in G \rightarrow p \cdot q \in \perp)\}$ .

A *fact* of  $\underline{P}$  is a subset  $G$  of  $P$  such that  $G^{\perp\perp} = G$ .

The following sets are facts:  $\perp$ ,  $\mathbf{1} := \perp^\perp$ ,  $\top := \emptyset^\perp$ ,  $\mathbf{0} := \top^\perp$ .

We define:

$$\begin{aligned} G \cdot H &:= \{p \cdot q \mid p \in G \text{ and } q \in H\} \\ G + H &:= (G^\perp \cdot H^\perp)^\perp \\ G \star H &:= (G \cdot H)^{\perp\perp} \\ G \sqcap H &:= G \cap H \\ G \sqcup H &:= (G \cup H)^{\perp\perp} \end{aligned}$$

A *phase structure*  $\underline{S}$  consists in a phase space  $\underline{P}$  and, for each propositional variable  $B$ , a fact  $S(B)$  of  $\underline{P}$ . With each formula  $A$  we associate its interpretation  $S(A)$  in a completely straightforward way.  $\underline{S} = \langle \underline{P}, S \rangle$

$A$  is *valid* in  $\underline{S}$  when  $\mathbf{1} \in S(A)$ .

$A$  is a *linear tautology* when  $A$  is valid in any phase structure  $\underline{S}$ .

Now, we restrict the phase semantics defining  $\perp$  as  $\{1\}$ . We only investigate phase spaces of the form  $\langle P, \cdot, 1, \{1\} \rangle$ . Hence,  $\perp = \mathbf{1} = \{1\}$ ,  $\top = P$  and  $\mathbf{0} = \emptyset$ . Furthermore, we restrict the range of  $S$  as the set  $\{\top, \perp, \mathbf{0}\}$ . Thus,  $\mathbf{1}$  corresponds to the truth-value "neutral",  $\top$  to "true" and  $\mathbf{0}$  to "false", where true and neutral have to be distinguished, because  $\mathbf{1}$  is an element of  $\top$  and  $\perp$ . The connective

+ corresponds to our "or",  $\star$  to our "and" and  $\sqcap$  corresponds to Kleene's "and",  $\sqcup$  to Kleene's "or".

Hence:

**Corollary 5.1** *If  $A$  is a linear tautology and does not contain additive connectives, then  $A$  is a robust tautology.*

**Remark:** From the same restriction of the phase spaces we also obtain a three-valued interpretation of the modalities  $!$  and  $?$  (of linear logic). The truth-value of  $!A$  is defined as neutral if the value of  $A$  is not false, else it is defined as false. The truth-value of  $?A$  exactly corresponds to the value of  $\neg! \neg A$ .

Note the value of a formula  $?A$  is never false. Hence,  $?A$  is a tautology for all formulas  $A$ . (The colloquial interpretation of  $?A$  is "A is possible". This means that every proposition is possible.)

The following formulas are robust tautologies:  $!A \rightarrow A$  and  $!A \rightarrow !!A$  whereas the formula  $?!A \rightarrow A$  is no tautology.

If  $A$  is a tautology, then  $!A$  is also a tautology.

A detailed analysis of this extended 3-valued semantics can be found in [Ho93].

## 6 Cut Rule

Note the cut rule is used in the completeness proof. Indeed, the calculus  $LC_R$  without the cut rule is not complete w.r.t. the robust semantics. This means that the cut can not be eliminated. But it is possible to replace the cut by the following three rules.

$$\frac{\gamma \supset \neg A \quad \gamma, A \vee B, B \supset \delta}{\gamma, A \vee B \supset \delta} (DV)$$

$$\frac{\gamma \supset \forall x \neg A(x) \quad \gamma, \forall x A(x), \exists x A(x) \supset \delta}{\gamma, \exists x A(x) \supset \delta} (D\exists)$$

$$\frac{\gamma \supset \exists x \neg A(x) \quad \gamma, \forall x \neg A(x), \forall x A(x) \supset \delta}{\gamma, \forall x A(x) \supset \delta} (D\forall)$$

Note that these rules satisfy a "modified" subformula-property and that there only exists a finite number of premises to a given conclusion.

**Lemma 6.1** *The cut can not be eliminated in  $LC_R$ .*

**Proof:** At first, we show that  $A, \neg A, \neg B, A \vee (B \wedge C) \supset A, \neg A, B$  is derivable in  $LC_R$ . As we can see in lemma 2.3,  $A, \neg A \supset A, \neg A$  is derivable. We can derive the sequent  $A, \neg A, A \vee (B \wedge C) \supset A, \neg A$  using the rule ( $lW$ ).

Furthermore, every sequent of the form  $\supset A, \neg A$  can be derived using the rule ( $lD$ ). Therefore, by lemma 2.2, the sequent  $A, B \supset A, \neg A, B$  is also derivable. Using the rules ( $lW$ ) and ( $l\wedge$ ) we obtain the sequent  $A, B \wedge C \supset A, \neg A, B$ . The following derivation yields the claimed proposition:

$$\frac{\supset B \wedge C, \neg B \vee \neg C \quad A, \neg A, A \vee (B \wedge C) \supset A, \neg A}{A, \neg A, A \vee (B \wedge C) \supset A, \neg A, B \wedge C, \neg A \wedge (\neg B \vee \neg C)} (r\wedge)$$

$$\frac{A, \neg A, A \vee (B \wedge C) \supset A, \neg A, B \wedge C, \neg A \wedge (\neg B \vee \neg C)}{A, \neg A, A \vee (B \wedge C) \supset A, \neg A, B \wedge C} (rD)$$

$$\frac{A, \neg A, A \vee (B \wedge C) \supset A, \neg A, B \wedge C}{A, \neg A, A \vee (B \wedge C) \supset \neg A, B \wedge C} (rD)$$

$$\frac{A, \neg A, A \vee (B \wedge C) \supset \neg A, B \wedge C}{A, \neg A, A \vee (B \wedge C) \supset B \wedge C} (rD)$$

$$\vdots$$

$$\begin{array}{c}
\vdots \\
\frac{A, \neg A, A \vee (B \wedge C) \supset B \wedge C \quad A, B \wedge C \supset A, \neg A, B}{A, \neg A, A \vee (B \wedge C) \supset A, \neg A, B} \text{ (cut)} \\
\frac{\quad}{A, \neg A, \neg B, A \vee (B \wedge C) \supset A, \neg A, B} \text{ (IW)}
\end{array}$$

Assume the sequent is derivable in  $LC_R$  without the cut rule. By induction on the length of the derivation we can show that this assumption leads to a contradiction.  
q.e.d.

**Theorem 6.2** *Let  $LC'_R$  the calculus  $LC_R$ , where the cut is replaced by the rules  $(D\vee)$ ,  $(D\exists)$  and  $(D\forall)$ . Then  $LC'_R$  is equivalent to  $LC_R$ .*

**Proof:** We show that  $LC'_R$  is sound and complete w.r.t. the robust semantics.

It is easy to prove the new rules are sound.

In order to show that  $LC'_R$  is complete we modify the completeness proof of  $LC_R$ . Note that the lemmata 2.2, 4.2 and 4.5 were proved by induction on the length of the derivation. To prove these lemmata in  $LC'_R$  is simple. The cut rule was used in the proofs of the lemmata 4.3, 4.6 and 4.7. We will see that we need the rule  $(D\vee)$  for lemma 4.3, the rule  $(D\exists)$  for lemma 4.6 and  $(D\forall)$  for lemma 4.7.

Lemma 4.3: If the sequent  $\gamma, A \vee B, \neg A, B \supset \delta$  is derivable then  $\gamma, A \vee B, \neg A \supset \delta$  is derivable, too.

Proof: The proposition immediately follows from the derivability of  $\gamma, A \vee B, \neg A \supset \neg A$ , the hypothesis and the rule  $(D\vee)$ .

Lemma 4.6: The sequent  $\gamma, \forall x A(x) \supset \delta$  is derivable if  $\gamma, \forall x A(x), \forall x \neg A(x), A(u) \supset \delta$  and  $\gamma, \forall x A(x), A(u) \supset \neg A(u)$  are derivable, where  $u$  is a free variable which does not occur in the sequent  $\gamma, \forall x A(x) \supset \delta$ .

Proof: Construct a proof as follows.

$$\frac{\frac{\gamma, \forall x A(x), \forall x \neg A(x), A(u) \supset \delta}{\gamma, \forall x A(x), \forall x \neg A(x) \supset \delta} \text{ (IV)} \quad \frac{\frac{\gamma, \forall x A(x), A(u) \supset \neg A(u)}{\gamma, \forall x A(x) \supset \neg A(u)} \text{ (ID)} \quad \frac{\quad}{\gamma, \forall x A(x) \supset \exists x \neg A(x)} \text{ (r}\exists\text{)}}{\gamma, \forall x A(x) \supset \delta} \text{ (D}\forall\text{)}$$

Lemma 4.7: The sequent  $\gamma, \exists x A(x) \supset \delta$  is derivable if  $\gamma, \exists x A(x), \forall x A(x), A(u) \supset \delta$  and  $\gamma, \exists x A(x), A(u) \supset \neg A(u)$  are derivable, where  $u$  is a free variable which does not occur in the sequent  $\gamma, \exists x A(x) \supset \delta$ .

Proof: Construct a proof as follows.

$$\frac{\frac{\gamma, \exists x A(x), \forall x A(x), A(u) \supset \delta}{\gamma, \exists x A(x), \forall x A(x) \supset \delta} \text{ (IV)} \quad \frac{\frac{\gamma, \exists x A(x), A(u) \supset \neg A(u)}{\gamma, \exists x A(x) \supset \neg A(u)} \text{ (ID)} \quad \frac{\gamma, \exists x A(x) \supset \neg A(u)}{\gamma, \exists x A(x) \supset \forall x \neg A(x)} \text{ (r}\forall\text{)}^\circ}{\gamma, \exists x A(x) \supset \delta} \text{ (D}\exists\text{)}$$

$^\circ$ : It is easy to see that the sequent  $\gamma \supset \delta, \forall x A(x)$  is derivable if  $\gamma \supset \delta, A(u)$  (where the free variable  $u$  does not occur in  $\gamma \supset \delta$ ) is derivable, too.

By virtue of these lemmata the completeness proof of  $LC'_R$  exactly corresponds to the proof of  $LC_R$ .

q.e.d.

## 7 References

- [Av91] A. Avron, *Natural 3-valued Logics - Characterization and Proof Theory*, *Journal of Symbolic Logic*, (56) 1, 1991, S. 276-294
- [Du86] J.M. Dunn, *Relevance Logic and Entailment*, eds. D. Gabbay, F. Guenther, *Handbook of Philosophical Logic III*, Reidel Publishing Company, 1986, S. 117-224
- [Ep90] R.L. Epstein, *The semantic Foundations of Logic, vol 1: Propositional Logics*, Nijhoff International Philosophy Series, Kluwer Academic Publishers, 1990
- [Fu88] A. Fuhrmann, *Relevant Logics, Modal Logics and Theory Change*, Dissertation, Australian National University, 1988
- [Gi87] J.-Y. Girard, *Linear logic*, *Theoretical Computer Science*, 50 (1987), S. 1-101
- [Go89] S. Gottwald, *Mehrwertige Logik*, Akademie-Verlag Berlin, 1989
- [Gr82] V.N. Grišin, *Predicate and set-theoretic calculi based on logic without contractions*, *Math. USSR Izvestija*, 18(1) (1982), S. 41-59
- [Ho91] B. Hösli, *Stable logic*, eds. E. Börger, G. Jäger, H. Kleine-Büning, M.M. Richter, *Computer Science Logic CSL'91*, Springer-Verlag LNCS 626, 1992, S. 201 - 212
- [Ho92] B. Hösli, *3-wertige Logiken und stabile Logik*, Technical Report Nr 179 ETH Zürich Departement Informatik, Juli 1992
- [Ho93] B. Hösli, *Robuste Logik*, Diss ETH No. 10250, ETH Zürich, 1993
- [KW84] J. Ketonen and R. Weyhrauch, *A decidable fragment of predicate calculus*, *Theoretical Computer Science*, 32 (1984), S. 297-307

- [Me92] D. Mey, *Investigations on a Calculus Without Contractions*, Diss ETH No. 9868, ETH Zürich, 1992
- [RM82] R. Routley, R.K. Meyer, V. Plumwood and R.T. Brandy, *Relevant Logics and Their Rivals*, vol. 1, Ridgeview, Atascadero, 1982
- [Ta87] G. Takeuti, *Proof Theory*, North-Holland, Amsterdam, 1987 (second edition)
- [Tr92] A.S. Troelstra, *Lectures on linear logic*, CSLI lecture notes no. 29, Stanford CA, 1992
- [Ur86] A. Urquhart, *Many-Valued Logic*, eds. D. Gabbay, F. Guenther, *Handbook of Philosophical Logic III*, Reidel Publishing Company, 1986, S. 71-116



## Gelbe Berichte des Departementes Informatik

- |     |  |   |
|-----|--|---|
| 182 | O. Lorenz  | Retrieval von Grafikdokumenten  |
| 183 | W.B. Teeuw, Ch. Rich,<br>M.H. Scholl, H.M. Blanken   | An Evaluation of Physical Disk I/Os for Complex Object Processing   |
| 184 | L. Knecht, G.H. Gonnet   | Alignment of Nucleotide with Peptide Sequences  |
| 185 | T. Roos, P. Widmayer   | Computing the Minimum of the k-Level of an Arrangement with Applications  |
| 186 | E. Margulis  | Using $nP$ -based Analysis in Information Retrieval   |
| 187 | D. Gruntz  | Limit Computation in Computer Algebra   |
| 188 | S. Mentzer   | Analyse von Methoden und Werkzeugen zur Entwicklung grosser Datenbank-Anwendungs-Systeme  |
| 189 | S.J. Leon  | Maximizing Bilinear Forms Subject to Linear Constraints   |
| 190 | H.-J. Schek, G. Weikum,<br>H. Ye   | Towards a Unified Theory of Concurrency and Recovery  |
| 191 | M. Böhlen, R. Marti  | A Temporal Extension of the Deductive Database System ProQuel   |
| 192 | R.H. Güting  | Second-order Signature: A Tool for Specifying Data Models, Query Processing, and Optimization   |
| 193 | M.H. Scholl, Ch. Laasch,<br>Ch. Rich, H.-J. Schek,<br>M. Tresch  | The COCOON Object Model   |
| 194 | H.P. Frei, D. Stieger  | A Semantic Link Model for Hypertext Retrieval   |
| 195 | C. Laasch, Ch. Rich,<br>H.-J. Schek, M.H. Scholl,<br>S. Dessloch, T. Härder,<br>F.-J. Leick, N.M. Mattos | COCOON and KRISYS - A Survey and Comparison   |
| 196 | R. Gross, R. Marti   | Intensional Answers in Generalized Deductive Databases  |
| 197 | K.M. Chandy, B.A. Sanders  | Conjunctive Predicate Transformers for Reasoning about Concurrent Computation   |
| 198 | N. Wirth, S. Ludwig  | An Extension-Board with an FPGA for Experimental Circuit Design<br>CL - An Editor for the CLi6000 Field Programmable Gate Array and its Implementation<br>CL-Editor User Manual |
| 199 | R. Vingralek, Y. Breitbart,<br>H.-J. Schek, G. Weikum  | Concurrency Control Protocols Guaranteeing Atomicity and Serializability  |
| 200 | M. Bronstein, M. Petkovšek   | On Ore Rings, Linear Operators and Factorisation  |
| 201 | U. Maurer  | Fast Generation of Prime Numbers and Secure Public-Key Cryptographic Parameters   |